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Let op: beantwoord een open vraag altijd in het Nederlands, behalve als het

anders is aangegeven. Als je in het Engels antwoordt, levert dat 0 punten op.

Tekst 1 Myth of genius ignores science’s real method

1 Which of the following fits the gap?
A accurate
B popular
Cc simplistic

Tekst 2 Obstacles to college

2 Which of the following fits the gap in paragraph 37?
A Although
B As
C Unless

Tekst 3 Letter to the editor

3 Which of the following fits the gap in paragraph 17?

A Clearly

B Curiously

C Fortunately
D Reluctantly
E Suspiciously

4 Bepaal voor elke van de onderstaande beweringen of deze wel of niet

overeenstemt met de inhoud van de brief.

1 lllegal-alien amnesty encourages future unlawful immigration into the
United States.

2 Granting amnesty ignores the rule of law, rewarding those who have
broken the law by granting them legal status.

3 Granting legal status to illegal immigrants poses one of the main
threats to Americans looking for a job.

4 Increased automatic control of industrial processes is reducing the use
of manpower.

Noteer “wel” of “niet” achter elk nummer op het antwoordblad.



